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Formula of chloroform is:

Z

| Benzene cannot undergo reaction
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ﬂ
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|
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You have four choices for each objective type question as A, B, C and D. The choice which you think you think
| is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

A B | C D !
CH,CE CCE, CH,CEL, CHC!, @
Elimination | Addition | Oxidation Substitution ‘

lik
| _ ,, -
3 ‘Vhich of given is electrophile? Ct, ﬂ
4 | Which compound shows strong C,H,OH
ing?
hydljogen bonding’ _ o | —_!

5 | Which of the given compound will

react with Tollen’s reagent? | |
CH,-C-0OH CH,-O-CH
1 N

6 | Which of given is not fatty acid? Propanoic acid Butanoic acid

7 | Which of these polymers is Polye Cellulose
synthetic polymer? |

8 Temperature of decompositign
zone during manufacturing of 1000°C 1200°C
| cement goes upto:
I a | s s . .
9 | To avoid the formation of toxic
‘4 compounds with chlorine which Alums 0,
substance is used for disinfecting
| water? b
In water the concentratior 4 — 8 ppm 8 - 12 ppm
-dissolved O, sho @ oo
| 11 | Which statement is con'ect? ; 3 ,fxtbm is atom is F atom is F atom is
| L smaller than er than smaller than larger than F'~
atom F- @ |

12 | Chile saltpetre has > Na,B,0, | Na,CO,.H,0
formula: _

13 5’_ ’longs to group Sodium  Lead ® | Oxygen |

'ldIC table? |

14 ‘ ens | Chalogens Chalite Halite

lled:

15 | An element having hi ‘” nize Halogen Noble gas Transition
energy and tends to be chen element
inactive is: o

—_— - — - b E—

16 | Which is the correct formula of [PtC{(NO,) [Pt(NO,)C? ‘ [Pt(NH,), [Pt(NH,),
Tetraammine Chloro-nitro-

Platinum(IV) sulphate? (NH,), ]SO". (NH3)4150, | CUNO,)ISO, | (NO,)CEISO,

17 | A double bond consists of: Two sigma Two Pibonds | Onesigmaand | One sigma and

bonds one Pibondg | two Pibonds

ﬂ23(0bj)(ﬁ(f?)—2024(1"-A)-l9000 (MULTAN)
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Multan Board-2024

INTERMEDIATE PART-II (12% Class) | 2024 1*-A Roll No:
CHEMISTRY PAPER-II GROUP-I

TIME ALLOWED: 2.40 Hours SUBJECTIVE _ MAXIMUM MARKS: 68
NOTE: Write same question number and its parts number on answer book, as given in the question Eper
SECTION-I

8x2=16

with an exam le.

m Write down any two dlssumlantles of derogen with group 1-A elements.
| (iii) | How is gypsum converted into Plaster of Paris? _ L -

Write down the formulas of (i) Dolomite (i) Halite _ | ]

L (V) | How chromate ions are converted into dichromate ions? L
| (vi) | Why does damaged tin plated iron get rusted quickly? | ~
| (vii) | Elaborate the mechanism of S 2 reactions. _ 1
| (viii) | Define nucleophile with an example ' ) . - ) 4
(ix) | Draw the structure of cholesterol. * B _
x) | How vinyl acetate converted into Eolﬂmxl acetate.
| (xi) | Write down the name of any four classes of enzymes. _ N
 (xii) | Mention the role of Phosphorus in ear ly growth of plant. _ N L |
3. Attempt any ei; ht parts. i B 8 Xx2= 16J_T
(1) l How alkene is converted into epoxide? What is its application?
i e PR o T ————h e —— =
(i) | Prepare the cyclic polymer of ethyne. |
[ (iii) | How good quality polythene is obtained from ethene? ) - |
(1v) | How does H,PO, act as a reducing agents? ) _ 1
} : — —
(V) | Give four uses of H,SO, |
" (vi) | Write the names and examples of two compounds containing carbonyl functional group. |
(vii) | Name two types of the isomerism shown by alkene with exam 6% ) - -
F (viii) | Justify that bleaching powder is oxidizing agent. o
(ix) | What are Freon and Teflon? O ) - )
(x) | What chemical reaction takes place in stratos th ozone? o
- l e — - . L VY S ey Gy — !
{ (x1) | What is Smog? Give its types? ——@ |
F'- (xii) ' What are leachates? @ -
4. Attempt any six parts. ...Y - | -
| () | Why CO, is gas while S; .4‘! olid?
i) | Write down any twomsss of AL, - =2 |
.. . i— o L NEA R T =L — e {
(iii) | What is the che of borax bead test? 2
l (iv) | Define resonance. Write down Kekule's structures of benzene. T 140.5+0.5=2 |
(v) | What is dérﬁﬂmrﬁgia} alcohol? N & 2
i (vi) | Why is Phenol acidic in nature? B Y | ) 2 ‘
(vii) | What is formalin? Give its two uses. o 1+0.5+0.5=2
| (viii) | Write down the structures of: (a) Malonic acid (b) Phthalic acid 1+1=2 —ﬂ
ix) | What is strecker synthesis? * _ - 2 |
SECTION-II o o |
NOTE: Attempt any three questions. - _ i 3 X8=24 |
5.(a) | Write down the point of similarities and difference of hydrogen with IA and IVA groups. 4 |
(any two of each)
(b) | Describe with diagram the manufacture of sodium by Down’s Cell. 4
6.(a) | Give any eight applications of Noble gases. ) - 4
(b) | How do Diammonium phosphate and Potassium nitrate prepared? Give their properties and uses. 4 J
r'i(a) | What is Cracking of petroleum? Discuss its three types. 1+3=4
(b) l Explain two main factors which govern the reactivity of alkyl halides. 4
H 8.(a) | Describe both Linear Polymenzatlon and Cyclic polymerization of Acetylen;: o ' 4
| by means of chemical reaction. L
(b) | Write a note on Aldol condensation reaction of carbonyl compounds with mechanism. 4
' 9.(a) | Describe structure of benzene on the basis of atomic orbital treatment. 4
(b) | How ethyl alcohol is prepared by the fermentation of: (i) Molasses  (il) Starch 4

——— .
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2024 (1*-A)
INTERMEDIATE PART-II 12" Class

Paper Code :

| Number: 4484
CHEMISTRY PAPER-I1 GROUP-II
TIME ALLOWED: 20 Minutes

OBJECTIVE

QUESTIONS

e —

7 Boric acid cannot be used:

8 "An element that has a high

lonization energy and tends to be |
chemically inactive would most @
| likely to be:

9 | Formic acid on reaction w:t
dehydrating agent gwe

10 | The strength of bl t
| transition elements ¢ pends

e

.1__. e e

il g b N : ]

iRl [y ‘

1 . Y ._,". " -
[ - I..':ll [ s

11 | The state of hybridization o..,

*w 'rF 5»“3-?

12 HC CH-C=CH andconc

HC? on reaction give:

A Ty TP
by m ‘}#r‘p': ;-[—.-.-,F.'! T
i.i?u._amd"*- e '*: Ly éff:‘_‘-'-'-".; _

13 Amongst the fol{

| 14 | Which one is ¢ reactive alkyl
halide? W,

" - by
e e —
i?.* s ) o h

e e
15 | Methyl a alcohol is s . used;

L 5

o .r!. ‘""1_'.'."#" g M
-’s‘f i ,‘_- '."

é?’:? S &f"ﬁt
SR

16 | Acetone reacts with HCN to -
cyanohydrin, it is an example of:

Roll No:

MAXIMUM MARKS: 17

You have four choices for each objective tyf)?question as A, B, C and D. The choice which you think
is c6rrect, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

6 | Down’s cell is used to prepare: Sodium
carbonate

As antise th n

I | The fibre which is made from Acryllc fibre | Polyester fibre
acrylonitrile as monomer: W
2 | For which crop, ammonium nitrate Cotton Wheat Sugar cane | Paddy rice
fertilizer is not used? O N
3 | Which of foilovWﬁgis better to | Ct, I 0, 0, ® | KMnO,
Wl disinfect water? i
4 | The main pomtaﬁt of leather | -
| tanneries in the waste water is due | Lead Chromlum(VI) Copper Chromium(Iii)
to the salt of:
5 | Zn, Cd, Hg in Mendeleev’s Noble metals |~ Coinage metals \
| periodic table, were placed with: |

Sodium metal

N W 4:'.
L e

o i
A__'l_;_ '.'-'.
S W ] A

- % -

P A '1"' e .
e

'. addition

17 | Which acid is used inthe
manufacturing of synthetic fibre?

- T S, = R

—

— e

Formic acid

For enamels and
| glazes —i
m% 2 . _
ﬁ%?
”““‘i‘ SN
H An alkali A halogen
i g metal |
) o) - WC O, H,O CO and CO,
e @
N Number of | Number of
ai*,"r“*?*'i"ri*"*r '
"*”iﬁ ‘tinpaired neutrons protons
“electrons @
Sp dspz
Chloroprene | Divinyl acetylene
. !
Benzene Nitrobenzene Chlorobenzene l
R-Ct | R-Br |  R-1I -

1 i

As a substitute i As an anti- For denaturing of |

for petrol @ | freezing agent | ethyl alcohol |
Electrophilic | Nucleophilic Nucleophilic

L] . LI - » F
substitution addition@ |  substitution

Acetic acid
. 4
24(0bj)( W IC)-2024(1%-A)-20000 (MULTAN)

Oxalic acid Carbonic acid
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Multan Board-2024

INTERMEDIATE PART-II (12" Class 2024 (1"-A Roll No:
CHEMISTRY PAPER-II GROUP-II B |

TIME ALLOWED: 2.40 Hours SUBJECTIVE | MAXIMUM MARKS: 68

NOTE: Write same question number and its parts number on answer book, as given in the c uestion paper.

3 SECTION—I | .
2. Attempt any eight parts. 8xX2=16

i Why are the ionic radii of negative ions larger than the snze of their parent atoms? Give example. —4’"“
ﬁ_ﬂi) _| Why does the oxidation state of noble gases usually zero?

(iii) | Give reactions of lithium with oxygen and carbon dioxide.

(1v) | What are the products formed when magnesium reacts with nitrogen and sulphur? - B |
v) | Why does damaged tin plated iron get rusted quickl

vi) | How does the process of galvamzmg protect from rustin ]

vii) | Give reaction of ethyl magnesium bromide with formaldehyde followed by acid hydrolysis. -

_Give reaction for the preparation of ethyl alcohol from ethyl bromide. Also mention reaction conditions. _'
.-i

|
T

_(ix) | Define lipids. Give difference between fats and oils. —
Briefly describe the term “Specificity” of enzyme. R
What is the difference between simple lipids and compound lipids?

Xii

Why are nitrogeneous fertilizers supphed to the plants or soil?
3. Attempt any eight parts. i

(1) | NO, is strong oxidizing agent. Prove the truth of this statement giving two examples.

(11) Complete and balance the given equations: (i) P+ NO— ? (i) ANO, +CO(NH 33:; ?
(iii) | Why HF is weaker acid than HC{?

(V)| How does iodine pentoxide (1,0;) react with H,0 and CO? | |
B e -

(v) | Whatis Catenation? _ —

vi) | What is Catalytic cracking?
vii) | Write down structural formulas of 1,3 - Butadlene and 2 — methxl - 2 — butene.

viii) | Differentiate between clemmensen and wolf-Kishner reduction givis chemical reactlons
| _(ix) | How would you prepare trans alkene from alkyne?
x) | What is ecosystem? )

xi) | How do oxides of sulphur adversely affect the environmeént?— -

l
xii) | How is value of COD determined? % &“ - _. |

4. Attempt any six parts. ,\" W ' 6x2=12
(i)
(i)

(i)

_(iv) What were objections to } @'3 s fonnula for Benzene?

(v) Eﬂ‘lYl alcohol is a lic ‘T;r“ ile methyl chloride is a gas. Why?

(vi) | Water has hlgh mg point than Ethanm

(vil) | How will yomeen Mm

(viii) { What happens when Sodium formate is heated with Soda llme?

| dix | What are Essential and Non-essential %
— sEcmonw

NOTE: Atte Attem t any three questions.

5.(a) | Discuss the improvements made in the Mendeleev’s Periodic Table and also
| discuss defects in the Mendeleev’s Periodic Table. |

8 X2=16

(b) | Explain commercial preparation of Sodium metal by Down’s cell and also 4 |
| give advantages of Down’s cell.
 6.(a) I How bleaching powder is prepared by Hasenclever’s method? 4 1
(b) | What is paper? Describe the process of dlgestlon in paper industry. 14+3=4
7_.(a) ' Define with example: | 1+1+1+1=4 |
| | (i) Tautomerism-  (ii) Metamerism (iii) Position isomerism (iv) Functlonal group isomerism |
(b) | What do you understand by the term Nucleophilic substitution? 14+-3=4
Explain S, 2 mechanism in detail.
8.(a) | Define Markownikov’s rule. Predict the structures of the alcohol obtained by the addition 4
of the acid to the given compounds: (i) Propene (ii) 1-Butene (iii) 2-Butene
(b) | How does acetaldehyde react with 4 |
(i) NaHSO,; (ii) Conc. NaOH (iii) HCN (iv) NH,OH
9.(a) | Define aromatic nitration along with example and its mechanism. 1+1+2=4 |
- (b) ' How ethanol is prepared from molasses and starch? 2+2=4

© 24-204(1"-A)-20000 (MULTAN)
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~_Multan Board-2023 o
; : 2023 (1I°-A) | Roll Not 2
INTERMEDIATE PART-TI (12" Class)
| CHEMISTRY _ PAPER-1l__ GROUP-I |
TIME ALLOWED: 2.40 Hours l SUBJECTIVE | MAXIMUM MARKS: 68
NOTE: Write same question number and iis parts ntmber on answer book, as given in {he questinn paper.
P T SECTION-I -
i Altempl uny ughl parts. - 8X2=16
(i) | What is chemical garden? | - _ 2
(i) | llow is boric acid prepared from borax? ' 2
(iii) | What is the effect of heat on boric acid? :
(iv) _Complctc the following reactions: S 1+1]
D

! 15
3 | WJT SO Foswin g, H.S0 9 (h) ‘.g‘r__,;'ﬂ b 3

(v) | Give the general mechanism of electrophilic substitution n..u,tmns of benzene.

(vi) | What is meant by the terms?  (a) Nitration {b) Ox 1dauon 1
Avir) | What are steroids? Give one example.
(viii) | Name the 3 importani bascs ‘which make up | D\JA and RNA.

(ix) | Prepare polystyrene and give ils (wo uses? '

(x) | What is acid rain?

(xi) | How do chlarofluorocarbons destroy the ozone layer?
{xii) | Write the names of various steges in watcer treatrment. _ )
3. Attempt any eight parts. o §X2=16 ___I

(i) | What are alicyclic compounds? Give their two ¢x examples: ,o( \ S |

(if) | What is cracking of petroleum? Give an cxdrnplc_ @\>
_{iri) | How will you convert acetic acid to ethane?

_(1v) | Describe Woll-Kishner’s reduction. ()

{(v) | How is Mustard gas preparcd from cthene? \\) L

(vi) | Why do the elements of group VI A other l [y n show more than two oxidation states?
(vii) Why is SO, dissolved in #7,80, and not }

' (viii) | Describe “Ring test” for the confi rnutj‘(@\‘rf’fh&. presence of nitrate ions ir: solurmn.
(ix) | How is Grignard's reagent prepayed?$Sive its equation,
(x) | What is an electrophiic? Giveits twb examples.

» 7

[a—

polta o[t |raf |+ (b2

{xi) | Define Paper. Mgnllo:tw}»oodv rawmaterials. -~ i
{xii) | What are Macronutric 1ve their requirement per acre. 1 Al 5 ]
4. Attempt any six pm’ts.\)___ 3 6X2=12

()| How is paramagnetism related with unpaired electrons? \

_(ii} | Why do transition elements exhibit more thun vae oxidation states?
(iii) | What is tin plating? L _

_(1v) | Givc two reactions which involve the cleavage of O— # bond in alcohols.

(v) § Why cun 100% alcohol not be prepared by fermentation?

| (vi) | How pherul is prcparcd from Dow’s process?

| (vii) | Give the reaction of acctong with hydrazine and hydmxylamm\.

_(vii} | How is formaldebyde prepared on industrial scale? : =
(ix) | How is acetic 2 acid prepared from €O, ? .
e w«%pakc:ty 9,:9
| NOTE: Attempt any three questinns. 3IX8= 24
5.(a) | State modern periodic law. [low the classification of clements in different blocks helps in
o understanding lheir chemistry? 1+3=4
(b) | Write down the problems and lln:lr solutions during w worl-.mg of Diaphragm cell. _ 2+F2=1
6.(a) | Describe the peculiar behaviour of Fiuorine. {any four points) it 4 r
(b) | What are the principal methods of chemical pulping? Discuss in detail dlguallon Process '[
: involved in neutral sulphiiec semi chemical process? ) 1:3=-4 |
74a) | Write a nolc on reforming of Petroleum, . B 4
i(b) | Explain structure of Benzene by resonance meﬂuxi 512 sl SO
8.(a) | How will you bring aboul the conversion of ethyne i mlu ncoprene”? Mention the cquations. 4
{b) | What are nucleophilic substitutions reactions? prlam S, 1 reaction. N -
[ 9.(a) | Whatis cyclic polymerization ol' Alkynes? Give the mechanisin of aldol wndr.,n:umun reaction. 4
(1) || Deseribe twe methods for the preparation.of amino acids. 4 |

Please visit for more data at: www.pakcity.org
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2023 (1"-A) Rall No:
INTERMEDIATE PART-TI (12" Class) |

CHEMISTRY PAPER-II  GROUP-II

TIME ALLOWED: 2.40 Hours | SUBTECTIVE [ MAXIMUM MARKS: 68

NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I )

2. Attempt any cight parts. §X2=16

(i) | Write owo uses of borax. - !
i) | Why are liquid silicones preferred over ordmarv organic fubricants?
(iit) | What is ashestos? Give its uses.
(iv) | Write two addition reactions of henzene.
|_(v) _| How will you prepare benzene from n — Hexane?
(vi) | How does ozone react with benzene Lo give glyoxal? )
(vi) | Whal is 2 copolymer? Give an equation for ils preparation.
(viii) | Draw the structure of sucrose.
(ix) | What arc conjugated protcins?
(x) | Mention the conditions which arc required for the formation of smog?
(xi) | What do you mean by biochemical oxypen demand 1OnN)y?
xii) | What is incineration? Give its two disadvantascs. . L
3. _Attempt any cight parts. §X2=16
(i) | What is meant by fuming nitric acid?
(i) | Give'two mcthpds for preparation o[ NO, .
(iii) | Give the rctu,l.;on oécumng in contact tower to prepnre H ;S{ - \S

(iv} | What is fum.liunal group? Write formulas of two oxyger\cotta | grot ;
(v)_| Define metamerism with one example. Am\ B L :
_{vi) | Give reaction for incomplete oxidation of meihﬁf:.,“
(vi1) | What do you mean by inertness of SLgmaﬁ&i{ lkanes?
(vini) | What is meant by dehydrohalogenationd __Yyl halidcs?
| _(ix) | What is nucicophile and clcctropkul
(x) | How can ethyl bromide be ¢ &d into cthy) acelate and ethy] thivalcohols?
{xi} | What arc fertilizers? m ¥ two qualitics of pood fextilizer. o
(xii) | Write down namciqf&\\fd}’ raw matcrials of paper. ;
4. Attempt any six par§)v 6X2=12
_(i)_| Differentiate between paramagnetism and diamagnetism.
| (i) | What js sacrificial corrosion?
|_(ili) | Define the term coordination number with fwo examples.
(iv) | What is Williamson's Synthesis?
| _(v) _| Ethanol obtained by fermentation does not exceed 14%. Give the reason.
(vi) | Write down the different products obtained by dehydration of ethano} at different temperatures.
(vii) | What are oximes? Ilow can they be produced?
(viii) | How can aldehydes and ketones he differentiated hy l'ehling’s solution test?
{ix) Dlilcn,nlmu, between protein and polypeptide.

1
~_ SECTION-II pa_kc'_ty'o_[g g
NOTE: Attempt any three. qm..auons. o 3X8=24

S.(a} | What are the oxides? Classify oxides on n the basis of acidic and basic behaviour with cxamples
(b) | Describe any eight points 10 show the roic of lime in industry,

6.(a) | Give the rules for romenclature of oxyacids of halogens.
(b) | Discuss the wet process for the manufacture of cement up to ) clinker formation.

(b) | Write a note on stadility of benzene.
8.(a) | Write down the mcchanism of Kolbe's cleetrolytic method for the preparation of ethene.
(b) | Explain the mechanism of SN, reactions in detail.

4
4
4
4
7.(a) Define sp hybridization. Explain the formation of ethyne molecule according to this approach. 4
4
4
4

9.(a) | Describe with mechanism “aldo] condensation” reaction. Why forma]dchydc does not give this :caclmlt 3+
(b) | How would you convert acetic acid into the following compounds? 4
(1) Methane (ii) Acetyle chloride (iii) Acetemide (iv) Acetic anhydride
' Please visit for more data at: www.pakcity.org
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Paper Code : !
; : . th Roll No: ?
Number: 4481 INTERMEDIATE PART-II (12 _Class) :
CHEMISTRY PAPER-II GROUP-1
TIME ALLOWED: 20 Minutes [ OBJEC TIVE [ BIAXIMUM MARKS: 17 |
Q.No.1 | You have four choices [or each objective type quee.imn as A, B, C and D. The choice which you think |
is coreeet, fill (hat bubble in frant of (hat question number, o bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will resull in zere mark in that question.
S.# QUESTIONS | A [ B 5 D
L | Pick the element having lcast meliing Be Ca Mg Sr
point among alkaline carth metals? i
‘2 [ The mineral sylvite has the chemical | NaCf | Kcr MzCO, CaCO,
formula: 1
|
i 3 | Boric acid cannot be used: As antiseptic. | For washing Insoda  For cnamels |
i in medicine eyes bottles | and glazes
{ |
= . | \
4 | Oxidation of NO in air produces: N,0 N,0, yo, | NoO, :
]
5| Which halogen does oceur - naturaily in I, | Br, Ce, A
positive oxidation state? \
it - | e
6 | The purest form of commercial fron is: Plg iron | Castiron Wrought Stecl
' @ iron
|7 | Which one of the following is not Naphthalene unc Furan Pyrrole
hetcrccyclic compound? %
8 | The reaction step shown is Knowr as: ypﬁ% Hydration | Hydroxyl aﬁﬁﬁ‘[ _H}'d_mgcﬂﬂﬁon
| H.C-CH, -080,H + If, 0% _, @ , —{H + H,80,
|9 Ilrcdlct the product in the reactio O\yl _ CIH,; S(.: H
i : ‘f::.?l m
.{/-j { @j N
i W
- i —nt ol S Ny . __.._____.._.__,_,__J = (OISR inatt AR
10 | For which mechanism Lhe first step Ej and E, F,and SN, | 5‘;\ “and E, s | £, and SN
involved is the same? '
11 | Which enmpound shows maximum CiH; C ;0 C, 1.0l | Cl,-0-Cl, |
hydrogen bending with water? o , :
| 12 | Which among the following is known CCILoNn  CULoH | CILCool Ve, <02 -_f_f?:’
as Carbolic acid?
13 Kctmic.'s"él}‘é._prcparcd by oxidation of: Prm;s_n-:— g Sccondary Terdary All of these
alcohal alcohel alcohol
14 | Acctamide is prepared by heating: | Ammonium Methyl " Ethyl  Fithyl
acelale cyanide acetate cyanide
IS | Natural starch consists of how much O50% BO-90% | 10—-20% 40%
percentage of amylose?
16 | Micronutrients are required in the. © 4-40g | 6-200g | 6-200kg P 4—40kg
quantity ranging from: !
[
17 | A single chloride free radical can 10° Tt | e 10°
destroy how many ozone malecules? i
B l

§<0bj){¢)-2023(1“—A)-13000 (MULTAN)
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Paper Code
Number: 4488

2023 (1A)
INTERMEDIATE PART-11 (12" Clasy)

' CHEMISTRY PAPER-II

Roll No:

GROUP-TT

OBJECTIVE

TIME ALLOWED: 20 Minutes [

| MAXIMUM MARKS: 17

Q.No.1 You bave four choices for euch vbjective Lype question as A, B, C and D. The choice which you think
ig correct, fill that bubble in froni of that question number, on buhble sheet. Use marker or pen (o

fill the bubblex. Cutling or filling two or more bubbles will result in zero mark in that g

uestion,

SA QUESTIONS A B C D

1 | Vegerable fats are: Unsaturated | Essential | Glycerides | Glycerides

[atty acids oils of saturated ol
obtained falty acids | unsaturated
[rom plants fatty acids
2 Major nitrogen fertilizers are: Urca and Ureaand | Ammonia | Dizmmonium
ammonium super and DAP phesphate
nitrate phosphate only

3 | 'The substances which directly kill the [fungicides | Inseclicides | Pesticides | Herbicides
unwanled organisms are called:

Metallic Metallic Metallic
characler character character

4 | Mark he correct statement: increases remains the | remains the

3- $ down the . same down | same from

pakmty.org group. : left to right
il along a
Period.

5 | The mincral (CaS$0, .2H,0) has (e Gypsum
general name:

6 | Which clement forms an ion Silicon
charge ~37

7 [ Which of the following species & 2, 05 oz
maximum number of unpal A 3

e ‘.. L)

8 | Which of theg g{m e D, HI HC?

the wenk 4 .
9 | Coording ] 1 6
[PtCé(
10 | A double & T'wa sigma.  Onesigma  One sigma Two
bonds and one and two Pi-bonds
L Pi-bond Pi-honds |

Ll | B, p—dichlorod % | Mustard gas | Laughing  Phosgene Bio-gas
commonly known a¥ gas gas

12 | Amongst the Iollowmg. & Nitrobenzene | Benzene Tolucne | Chleruhensene
can be most readily sulphonated is:

13 | When CO,is made to react with ethyl -
magnesium iodide, followed by acid Propanc | Propanoic | Propanal | Propanol
hydrolysis, the product [ormed is: acie

14 The solulion of which acid is used for Acetic | Formicacid | Benzoic Butanoic
manufacture of pickles: acid acid | acid

15 | Which of the following reagent will react Tollen’s Fehling’s = DBenedict's | Grignard’s
with ketones? rcagent reagent “reagent reagent

16 | Which compound will have the maximum C,H,QI | CiCinCit,on C.H; CH, —-0—H,
repulsion with H,07?

17 | Which compound is uscd as anti-freezing CILLOH | Cl.-0-CH, | cieH o8 | TRETOTIEE
agent in automobile radiator?

| !
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CHEMISTRY PAPER-II GROUP-1 TIME ALLOWED: 20 Minutes
Multan Board-2021 OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) The chemist who synthesized urea from ammonium cyanate was:
(A) Berzelius (B) Kolbe (C) Wholer (D) Lavoisier
(2) Synthetic rubber is made by polymerization of:
(A) Chloroform (B) Acetylene (C) chloroprene (D) Divinylacetylene
3) Which of the following acids can be used as a catalyst in Friedal-Craft reactions?
(A) ALCt, (B) HNO, (C) BeCt, (D) NaCt
4 The rate of El reaction depends upon:
(A) The concentration of substrate (B) The concentration of nucleophile
(C) The concentration of substrate as well as nucleophile (D) None of these

(5)  Which compound will have maximum repulsion with water?

(A) CH,CH,OH (B) CH,CH,CH,-OH (C) C¢Hs-OH (D) C4Hg
(6) Cannizzarro’s reaction is not given by:

(A) Formaldehyde (f3) Acetaldehyde © Benza.ln:!eh<S (D) Trimethylacetaldehyde
) Which of the following compounds will react with, ’?Reagent?

(A) CH,COH (B) CH,COCH, COOH (D) CH,-CO-CH, -CH,4
(8) The solution of which acid is used for @s g of food?
(A) Formic acid (B) Benzoi ((f) Acetic acid (D) Butanoic acid

9) A carboxylic acid contains;
(A) A carboxylic gro ) A hydroxyl group (C) Alcoholic group (D) Keto group
(10)  For which crop, ammonium nitrate fertilizer is not used:
(A) Sugar cane (B) Paddy Rice (C) Cotton (D) Wheat

(11)  Mark the correct statement:
(A) Metallic character remains same down the group
(B) Metallic character remains the same from left to right along a period
(C) Metallic character increases from left to right along a period

(D) Metallic character increases down the group . ¢
c@ pakcity.org %n

(12)  Chile saltpetre has the chemical formula:

(A) NaNO, (B) KNO; (C) KNO, (D) KNO
(13)  Which metal is used in the thermit process because of its reactivity?

(A) Iron (B) Zinc (C) Aluminium (D) Copper
(14)  Out of all the elements of group VA the highest ionization energy is possessed by:

(A) N (B) P (C) Sb (D) Bi
(15)  Which of the following hydrogen halide is the weakest acid in the solution?

(A) HF (B) HBr (C) HI (D) HC?
(16)  Hydrogen Bond is the strongest between the molecules of:

(A) HI (B) HF (C) HCt (D) HBr

(17)  Which of the following is a non-typical transition element?
(AN Oy (RY Afn (C) 7n (D) Fe
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INTERMEDIATE PART-II (12" CLASS)
CHEMISTRY PAPER-II GROUP-I TIME ALLOWED: 2.40 Hours
Multan Board-2021 SUBJECTIVE MAXIMUM MARKS: 68

NOTE: Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
2 Attempt any eight parts. 8§x2=16
(i) Define electron affinity with example.
(i)  Give two resemblances of Hydrogen with group-IV elements.
(ili)  Give chemical formula of Chrysoberyl and Asbestos.
(iv)  Give two advantages of Down’s Cell.
(v) Write two similarities between Carbon and Silicon.
(vi)  Which property of Aluminium is useful in flash photography?
(vii)  Discuss the Chemistry of Borax Bead Test.
(viii) How Aqua Regia reacts with Gold?
(ix)  How Arsenic is removed in contact process?
(x)  Which raw material is used in the manufacturing of Cement?
(xi)  Give two benefits of Phosphatic fertilizers.
(xii) 'Why 2% Gypsum is added into Cement?

3. Attempt any eight parts. 8x2=16
(1) Name the factors affecting the oxidizing power of halogens.
(i)  Write any four properties of HF.
(ili)  Give reaction of chlorine with cold and hot NaOH .
(iv)  Define paramagnetic and diamagnetic substances.
(v)  Whatare d—d transitions in complexes? @
(vi)  Write objections to Kekule’s formula of Benzene. @@
(vii) How is benzene prepared from acetylene? S
(viii) Give any two applications of iodoform test.c %
(ix)  Write two uses of Formaldehyde. %
(x)  What happens when the following cothpoynds are heated?
(a) Calcium Acetate (b) Am @; im Acetate
(xi) How acetic acid is converted ta{ethariol and ethane?
(xil)  Give reaction to prepare . ©lic acid from Grignard’s reagent.
4 Attempt any six parfs 6x2=12
() What are alicycli§ @nd aromatic compounds, give one example of each.
(if) Define Metamerism, give an example.
(iii) State Markownikov’s rule. Give one example.
(iv) Give the formation of 1, 1 — Dibromoethane from alkyne.
(v) How would you prepare the following compounds from ethyl bromide?
(a) Ethyl alcohol (b) Ethyl Cyanide
(vi) Define electrophile. Give its examples.
(vii)  Write down two reactions of alcohol in which C - O bond is broken.
(viii))  What is Lucas test?
(ix) What is Raney Nickel? How it can be prepared?
SECTION-1I 1 - :
NOTE: Attempt any three questions. % pa kClty.Org %‘3 8x3=24
5.(a) Justify the position of hydrogen at top of group IA and IVA. 3 £ 4
(b)  Describe occurrence of alkali metals and alkaline earth metals in nature. 4
6.(a)  Explain Electrochemical Theory about Corrosion. 4
(b)  How Sulphuric acid is prepared on commercial scale by contact process? 4
7(a)  What is meant by orbital hybridization? Explain SP? Hybridization with an example. -
(b)  What types of aldehydes give Cannizzaro’s reaction? Give its mechanism. 4
8.(a) Describe Kolbe’s Electrolytic method with mechanism for the preparation of Ethane. 4
(b) Differentiate between Sy1 and Sy 2 reactions. 4
9.(a) Explain modern structure of Benzene with atomic orbital treatment. -

(b) How C,HOH is prepared from molasses and starch? Write with balance equation. B
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CHEMISTRY PAPER-II  GROUP-II TIME ALLOWED: 20 Minutes
Multan Board-2021 OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1

(D Which one of the following does not belong to alkaline earth metals? >

(A) Be (B) Ra (C) Ba (D) Rn o@ pakcity.org %o

(2)  Which element forms an ion with charge +3?

(A) Be (B) AL ©C (D) Si
3) Oxidation of NO in air produces:
(A) N,O (B) N,0, (C) N,0, (D) N,Os

(4)  Chlorine heptaoxide (C£,0,) reacts with water to form:
(A) Hypochlorous acid  (B) Chloric acid (C) Perchloric acid (D) Chlorine and oxygen
(5)  The anhydride of HCLO, is:

(A) CLO, (B) Ct0, (C) Ct,0s (D) C2,0,
(6)  Which of the following is a non-typical transition element? @

(A) Cr (B) Mn (C) Zn 3 (D) Fe
(N Ethers show the phenomenon of: 2 %

(A) Position isomerism (B) Functional grd@@erism (C) Metamerism (D) Cis-trans isomerism
(8)  Preparation of vegetable ghee involv

(A)Halogenation (B) Hydr: akie (C) Hydroxylation (D) Dehydrogenation
(9)  Which of the following 2 i e used as a catalyst in Friedal-Crafts reactions?

(A) ALCE, HNO, (C) BeC?, (D) NaCt

(10)  For which mechanisms, the first step involved is the same?

(A) E, and E, (B) E, and Sy2 (C) Syl and E, (D) E, and Syl
(11)  Which compound is more soluble in water?

(A) C,HOH (B) C4HsOH (C) CH,COCH, (D) n—Hexanol
(12)  Which of the following will have the highest boiling point?

(A) Mathanal (B) Ethanal (C) Propanal (D) 2-Hexanone
(13)  Which of the following reagents will react with both aldehydes and ketones?

(A) Grignard’s reagent  (B) Tollen’s reagent (C) Fehling’s reagent (D) Benedict’s reagent
(14)  Which reagent is used to reduce a carboxylic group to an alcohol?

cy %\, ® (C) NaBH, (D) LidtH,
(15) Alkanenit;iles can be prepared by treating alkyl halide with:

(A) Alcoholic KOH  (B) Alcoholic KCN  (C) Aqueous KOH (D) Aqueous KNO,
(16) Most concentrated solid nitrogen fertilizer is:

(A) NH, (B) (NH,), HPO,  (C) (NH,),CO (D) NH NO;

(17)  Mark the correct statement.
(A) Na* is smaller than Na atom (B) Na” is larger than Na atom
(C) C¢ is smaller than C£ atom (D) C¢” ionand C{ atom are equal in size
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CHEMISTRY PAPER-II GROUP-II TIME ALLOWED: 2.40 Hours
Multan Board-2021 SUBJECTIVE MAXIMUM MARKS: 68

NOTE: Write same question number and its part number on answer book,
as given in the question paper.
SECTION-I
2. Attempt any eight parts. 8x2=16
) The first electron affinity of oxygen is negative but the second is positive. Justify it.
(i)  Why diamond is bad conductor of electricity but graphite is fairly good conductor of electricity?
(i)  What is the significance of KO, for mountaineers?

(iv)  Why is the aqueous solution of Na,CO, is alkaline in nature?
(v)  How boric acid can be prepared on commercial scale?
(vi)  Give the names and formulas of different acids of boron.
(vii) How does Aluminium react with the following (a) C¢, (b) H,
(viii) H,SO, acts as dehydrating agent. Justify giving two reactions.
(ix)  Complete and balance the following chemical equations:
(a) KNO; + H,SO, —— ? (b) NO+Ct,——>?
(x) What are macronutrients? Give examples.

(xi)  Give essential qualities of good fertilizers.
(xii)  Write the reactions involved in preparation of urea fertilizer.

o

Attempt any eight parts. 8§ x2=16
(i) Write down the factors on which oxidizing power of halogens depends.
(i) Howare HF and HC? prepared?
(iii)  Complete the following reactions:

S
(@) HIO;—2C, (b) HeO + ;3'%00

(iv)  Why transition elements have variable oxidati ?

(v)  What is anode coating?

(vi)  Write names and formulas of two fuse%@tdmcarbons.
(vii) Convert benzene into  (a) Tolue (b) Cyclohexane
(viii) Convert ethene into ethanal.

(ix)  Distinguish between ethan
(x)  Draw formulae for Mal
(xi)  Write names of este,

(xii)  What is glacial ¢

d>propanonce by two chemical tests.
d and Phthalic acid.

4. Attempt any six parts. 6x2=12

0] Give the importance of catalytic cracking.

(ii) What is octane number? How can it be improved?

(iii) Give the reaction of Methane with nitric acid.

(iv) Discuss the reactivity of Pi-bond.

(v) Explain the acidic behaviour of acetylene.

(vi) Prepare n-butane by Wurtz Synthesis.

(vii)  Give the reaction of Alcohol with SoC?, .

(viii)  Prepare phenol by Dow’s Method.

(ix) How iodoform reaction helps to distinguish between Methanol and ethanol?

SECTION-II
NOTE: Attempt any three questions. 8x3=24
5.(a)  Give the differences of Hydrogen with group IA, IVA and VIIA elements in the periodic table. 4
(b)  Describe the process for the preparation of Sodium Hydroxide on commercial scale. -

6.(a)  Give manufacture of Nitric acid with diagram by Birkeland and Eyde’s process. -+

Define Atomic Orbital Hybridization. Explain sp® Hybridization.
(b) Write equations for the reactions of acetaldehyde with:
(i) NaHSO, (it) NH, -OH (iii) CoHs—OH  (iv) NH, - NH -C¢H;,

(b)  Whatis Corrosion? Explain Electrochemical theory of Corrosion. & . a4
o@ pakcity.org %c

7.(a) 2 & 4
4

8.(a) Write down four methods for the preparation of alkenes.
(b)  What are Nucleophilic substitution reactions? Explain S 2 mechanism.

b RO

9.(a) Discuss sulphonation and nitration of Benzene with mechanism.

1S Y TN it tvrdrnclie ) i o g o o sl



Paper Cudé 2019 (A) Roll N(,_Multan Board-2019
Number: 448 1- INTERMEDIATE PART-II (12“’ CLASS)

CHEMISTRY PAPER-II (NEW SCHEME) GROUP-I
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
thinl iy correct, fill that bubble i (ront of that question number. Use marker or pen to fill the bubbles,
Cutting or filling two vr moure bubbles will result in zero mark in that guestivn, Attempt as many
yuestions as given in objective type question paper and leuve others blank. No credit will be awarded in
cuse BUBDLES nre not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

).No.l

N

(3)

(0)
M

(8)
(9

(o,

(1)
(12)
(13)

(14)

(15)

(16)

(17)

W:h.u.h‘qpc of the following gases is us

Which statement is incorrecet?

(A) All the metals are good conductors of electricity.  (B) All the metals are good conductoer of heat.
(C) All the metals form positive ions, (D) All the metals form acidic oxides.

Wl'ucll ol lhc tollowing Sulphates is not soluble in water?
(A) %dlum bulplml» (13) Potassium Sulphate  (C) Zinc Sulphate (D) Barium Sulphale

Chclmcnl composition ol Colemanite is:
(A) CllzBﬁf)“ S0 (B) CaByOy .411,0 (C} NagBa07 .4H-0 (D) CaNuBsOy.8H.0

Among group VA clements, the most electronegative element is:

(A) Sb By N ) P (D) ds
Thie strongest acid is;
(A)  HCLO (13) HCO, (C) HCtO, @ (D) HC!tO,

Coordination number of Pr in [ #1CE(NO,) (NH3)4 ] 15@

(A) 2 (B) 4 (©) l (D) 6

rtificial ripening of truits?

Select trom the following the onc which is alco
{A] (Hg -CHs-0OH (B) CH; -0~ ) CHyCOOIl (D) CHy ~CHy = Br
s@jga

(A). Ethene (B) Ethyy

Atoimafic’ h)'tfrowrbona ar

taoadda,

1 ) (C) Methane (12) Propanc

rivatives of®

(A) Nurmal series of s (B)Alkene (C) Benzene {1D) Cyclohexane

When ¢ '0, 'is madelth reuct with ethyl magnesium iodide, followed by acid hydrolysis,
the product formed is:

(A) Propane (B) Propanvic acid ' (C) Propanal (D) Propanol
According v Lewis concept ethers behave as:

(A) Acid (B) Base (€) Catalyst (D) Enzyme
Whichiof the following will have the highest boiling poim?

(A) Methanal (BB) Ethanal (C) Propanal (D) 2 — Huxanone
Which'of the following is used in the manutacture of synthetic libre?

(A) Formic acid (B) Oxalic acid (C) Carbonic acid (D) Acetic acid

Which one of the following statements about glucose and sucrose is incorrect?
(A) Both are soluble in water (B) Both are naturally occurring
(C) Both ure Carbohydrates (D) Both are disaccharides pa kCIty Org

In.which ol these processes are smalf organic molecules made into macromolccules?

(A) The crucking of petroleum fractions  (B) The fractional distillation of crude oil

(C) ‘l‘h_q polymerization of ethene {D) The hydrolysis of proteins
Micronuu:u:ms are required in quantity ranging from:

(A) 4-d40 g (B)6-200g (C) 6 =200 kg (D)4-40kp
I:uus)rslcm is the smaller unit of:

(A) Luhosphcrc (B) Mydrosphere (C) Aunasphere (D) Biosphere

Please visit for more data at: www.pakcity.org



2019 (A) Roil No: Multan Board-2019
INTERMEDIATE PART-II (12" CLASS)

CHEMISTRY.  PAPER-II (NEW SCHEME) GROUP-I

TIME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68
NOTE: - Write same question number and its part number on answer book,
as given in the question paper.
SECTION:!

2. Attempt any cight parts. B8x2=1606

(i) Why does ionic character of halides decrease from left to right in a period?

(i1) How does Lanthanide contraction control the atomic sizes of elements of 6™ and 7 periods?

(iii}  Why is Potassium Superoxide used in breathing equipments of mountaineers and in space craft?

(iv)  How s boric acid prepared from colemanite?

v) What is eftect of heat on boric ncid?

(vi)  What is' Asbestos? Give its two uses.

(vii)  Give the rcactions of nitric acid with:  (a) Arsenic (b) Antimony

(viii)) What is aqua regin? How does it dissolve gold?

(ix}  What huppens when following compounds are heated with conc. #1550, ?

(a) Cﬁ }:Iru O(, (b) HSCZOH

(x)  What arc macro-nutrients?  Give their names.

(xi)  Give four properties of a good fertilizer.

(xii)  State the term “Dissolved Oxygen (D.O.)". What is it's use?

3. Attempt any cight parts, 8x2=16
(i) Define the term Carbonization. Indicate three fractions obtained by the carbonization of coal.
(i)  Write structural formulas of the followings:

(i) 3-n—-Propyl-1, 4-Pentadiene (ii) Divinyl acet
(iii)  Define heat of combustion with example.
(iv)  How will you prepare in—chloronitrobenzene from bel two steps?
() Write two objections that were raised on Kekule! cture for benzene molecule,
(vi)  Write reaction of ethyl magnesium chloride ;
(vii) ~ Write an excellent method for the preparati imple alkyl iodides.
{viif) Wrile structural formulas of these co ¢ (i) Ethoxy propane (ii) Lactic acid
(ix) How.ethanol is denatured to avoid i or drinking purpose?
{(xX) . Write the structural formulas of. mpounds: (i) Phthalic acid  (ii) Acetic anhydride
(xi) Whatis.zwitterion? Ho isformed?
{xii) What are essential und ssential amino acids?
d, Afterupt any six | 6x2=12
(i) What are di 1onution reactions? Explain your answer with suitable example.
(i) HF s weakerweid than HCE. Why?
(iii) Anl'ange these ions in order of increasingsize. £~ , [~, Ct7, B/
(iv) Why does damaged tin plated iron get rusted quickly?
(v) -Describe general mechanism of base-catalyzed addition reaction of carboxyl compounds.
(vi) How will you distinguish between ethanal and propanone?
(vi)  Draw cyclic structure of glucose and fructose.
(viii) Deline acid number.  What is rancidity?
(ix)  What I§ meant by hurdening of 0il?
SECTION-II
NOTE: - Aftémpt any three questions. 8x3=24
5.(a) What are hydrides? Write down their classification and the properties of the covalent hydrides. 4
(b) Deséribe the preparation of NaOH by Nelson's cell. 4
6.(a) HoW Will you manufacture wrought iron from cast iron? 4
(b) What'is smog? Explain the pollutants which are main causc of photochemical smog. 4
7.(a) Define hybridization and explain the structure of Ethyne on the basis of hybridization. 4
(b) What dfe Friedel-Crafts alkylation? Explain by giving two examples with mechanism. 4
8.(a) Write down structural formulae for the following compounds: 4
(i) Isobutylene (ii) But—1-ene-3-Yne 3 . ¢
(iii) 2,” S-Heptadienc (iv) Vinyl bromide D@_‘)‘a kCIty.org %0
(b}  Expluin following terms using cthyl alcohol as an example: P 2¢2
(i) Estérification (i) Ether formation  (iii) Oxidation (iv) Dehydration
9.(a} 'Wliéf tte, Grignard reagents? How can you prepare a primary, sccondary and a tertiary alcohol
wifh the'help of Grignard reagent? 4
(b)  Wrif¢'resiction equation for reaction of ethanal with: 4

() NHoOH (i) NHy~NHy  (ili) HoN - NHCgHs  (iv) 2,4 DNPH
L 23-2019(A)-22000 (MULTAN)
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Paper Code 2019 (A) Roll No. Multan Board-2019
Number: 4482 | INTERMEDIATE PART-II (12 CLASS)

CHEMISTRY PAPER-11 (NEW SCHEME) GROUP-II

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for cach objective type question as A, B, C and D. The choice which you
think is correct, fill thut bubble in front of that question number. Usc marker or pen to fill the bubbles.
Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as many
questions as given in objective type question paper and leave others blank. No credit will be awarded in

cuse BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1

(1)  Mark the correct stalement: (A) All lanthanides are present in the same group

(B} All halogens are present in the same period  (C) All the alkali metals arc present in the same group

(D) All the noble guses are present in the same period C@ pa kCity.Org %‘D

(2)  Chile sultpetre has the chemical formula:

(A) NaNO, (BY KNO4 (C) NayBs()q (D) NayNOy.H,0
®)] Which metal is used in the thermite process because of its activity?
(A) Iron (B) Copper (C) Aluminium (D) Zinc
C)) Which of the following species has the maximum number of unpuired electrons?
(A) O By O (C) 07 (D) 07
(&) Which of the' following hydrogen halide is the weakest acid in sol?
(A) HF (B) HBr (C) HI ©<i (D) HCE
(0) Which of the following is 4 non-typical transition el¢ 2
(A) Cr (B) Mn 2 "% (D) Fe
()] The statc of hybridization of carbon atom 4 ¢ is:

(A) -sp (B sp? @ (C) sp’ (D) dsp?
) Preparation of vegetable ghee info ;@
(A) 'Haologenation  (B)A{3
(99  Whichi of the followi ¢
(A) A£Ct,

ugenation (C) Hydroxylation (D) Dehydrogenation

1g\can be used as a catalyst in Friedel-Cralfls reactions?
(B) HNO, (C) BeCt, (D) NaCt¢
(10) S, 2 reactions can be best carried out with:

(A) Primary alky! halides (B) Secondary alkyl halides (C) Tertiary alkyl halides (D) All of these
(11) Ethanol can.be converted into ethanoic acid by:

(A) Hydrogenation (B} Hydration (C) Oxidation (D) Fermentation
(12)  Which one.of the following will have the highest boiling point?
(A) :Mathanal (B) Ethanal (C) Propanal (D) 2 ~ Hexanone
(13) Amyl.acetate has the flavour of:
(A) Apricot (B) Banana (C) Orange (D) Jasmine
(14)  Which of the following elements is not present in all proteins?
(A) Carbon (B) Hydrogen (C) Nitrogen (D) Sulphur
(15) Vcgetable oils arc:
(A) Unsaturated fatty acids (B) Glycerides of unsaturated fatty acids
(C) Glycerides of saturaled fotty acids (D) Essential oils obtaincd from plants
(16)  Which woody raw material is used for the manufacture of paper pulp?
(A} Cotton (B) Bagasse (C) Poplar (D) Rice straw
17 rﬁ"sfngl'c Chloride free radical can destroy how many Qzone molecules?
(A) 100 (B) 100000 (C) 10000 (D) 1000

et 24(0Obj)(TX)-2019(A)-10000 (MULTAN)
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2019 (A) Roll No: Multan Board-2019
INTERMEDIATE PART-11 (12" CLASS)
CHEMISTRY PAPER-II (NEW SCHEME) GROUP-II
TIME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68

NOTE: - Write sume question number and its part pumber on answer book,
ns given in the question paper.

SECTION- _ 6 :
2, Attempt any cight parts, D@ pak(:lty.org %ﬁ B x2=106

(i Why ionization energy decreases down the group?
(i)  Why melallic character increases from top to bottom in a group of metals?

(iii)  Why 2 % gypsum is added in the cement?

(iv)  Why is-C05 a gas at room temperature while SiO5 is a solid?

(v) Name four important Boric acids.

(vi)  Write down the lormulas of: (1) Kaolin (Pottery clay) (ii) Zircon

(vii)  Write down the structural formulas of: (i) Nitrous acid (ANO3) (i1) Nitric acid (HNO5)
(viti)  Write down two uses ol Nitric acid.

(ix)  Complete und balance the following cquations:

(Y H,S + NO — (i) NOy + Hy0 ——
(x)  Name eight mucronutrients of fertilizers.

(xi)  Write down two important raw materials used for the manulacture of cement.
(xii)  What is chemical oxygen demand (COD)? How it can be determined?

3. Attempt uny eight party, 8x2=10
i What are heterocyclic compounds? Give two examples.
(1i) How is 2-Butyne converted inta Cis-2-Butenc?
(iii)  How would you establish that ethylene contains a doubie bm@
Justify your answer with a chemical reaction. @
{iv)  Give two objections to Kekule’s formula of Benzene
{v) How is benzene prepared from the given compoynds? 8} n-Hexane  (b) Sodium benzoate

(vii)  Give the réactions ol a Grignard's Reag () Lthanol (b) Cyanogen Chloride

(vi)  Give reactions of ethyl chloride with: ium metal (b) Sodium lead alloy
(viiiy What is Uenaturing of alcohol? ‘\\I é

(x)  State term esterification with an e ;

(x) Give d reaction in which - CO@Af up is reduced to = C/15 group.

(xi)  Whatis Zwitter ion? Gi xample,
(xii) How s vinegar prep: m ethanel?
4. Attempt any six ) 6x2=12
(1) Give reaction of'bleiiching powder with excess of Sulphuric acid.
How the activily of bicaching powder is measured.
(i) Give two uses ol Argon.
(i)  Give reactions of X, Fy with (i) He (i) NH;
(iv) Under what conditions, does aluminium corrode?
(v) Give any four uses of Formaldehyde.

(vi) How will you distinguish between methanal and ethanal?
(vii)  Define saponification number,
(viii)  In what ways fats and oils are different? Give example.

(ix) What are thermoplastic polymers?  Give exumple.
SECTION-1I
NOTE: - Attempt any three questions. 8x3=24
5.(a) Deline electron uffinity. Explain trends of electron affinity in groups and periods. 4
(b) Complete and batance the given equations: () Mg(OH), e 4
QLD+ HsV—s (iii) Nay0y + HyO— (iv) NaNOj—ledt,
6.(a) Write down the chemical equations for the reaction of K2Cry0; with: 4
(i) H,S (i) FeSO, (iii) K7 (iv) NaCt
(b) What is smog? Write Jown the conditions required for its formation. 4
7.(a) Define Hybridization and explain the structure of ethyne on its basis. 4
(b)  What arc uromatic hydrocarbons? How are they classified? 4
¥.(a) How will you convert ¢thyne 10? (i) Ethenc (i) Acetal dehyde  (iii) Divinyl acetylenc (iv) Glyoxal 4
(b)  Write down any two methods. for the preparation of phenol. 4
9.(a) How CiHs~Mg-Br reacts with (i) CO, (ii) HCHO (iii) CH3 -=CO~-CH5 (iv) CHyCHO 4
(b)  Explain Aldol condensation with its mechanism. 4
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number. Use marker or pen to fill the bubbles.
Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as many
questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1)  Ether shows the phenomenon of:-

(A) Position isomerism  (B) Functional group isomerism (C) Metamerism (D) Cis-trans isomerism
(2)  Vinyl acetylene combines with HC? to form:-
(A) Polyacetylene  (B) Benzene (C) Chloroprene (D) Divinyl acetylene

3) can be used as a catalyst in Friedel-Craft’s reactions. -
(A) ALCt, (B) HNO, (C) BeCt, (D) NaCt f@ pakcity.org %"

4) is not a nucleophile.

(A) H,0 (B) H,§ (C) BF, (D) NH,
(5)  According to Lewis concept; ether behaves as:-
(A) Acid (B) Base (C) Acid as well as a b: @ Electrophile

(6)  The Carbon atom of a Carbonyl group is:- <>©
(A) sphybridized  (B) sp® hybridized (C) Q@hﬁm (D) dsp?hybridized
(7)  Acetic acid can be manufactured by:- @

(A) Distillation (B) Fermentatio .@ ) Ozonolysis (D) Esterification
(8) The main pollutant of leather e waste water is due to the salt of:-

(A) Lead (B
(9)  The reaction betwee

um (VI) (C) Copper (D) Chromium (III)
d NaOH is:-

(A) Esterification ~'(B) Hydrogenolysis (C) Fermentation (D) Saponification
(10)  Phosphorus helps in the growth of:-

(A) Root (B) Leave (C) Stem - (D) Seed
(11) ____ issecondary pollutant.

(A) Carbonic acid  (B) CO, (C) SO, (D) CO
(12)  Keeping in view the size of atoms, the correct order is:-

(A) Mg > Sr (B) Ba > Mg (C) Lu > Ce (D)Ct>1
(13)  The mineral CaSO,.2H,0 has general name of:-

(A) Gypsum (B) Dolomite (C) Calcite (D) Epsom Salt
(14) ____ elements is not present abundantly in earth’s crust.

(A) Silicon (B) Aluminium (C) Sodium (D) Oxygen
(15) Oxidation of NO in air produces:-

(A) N,0 (B) N,0, (C) N,0, (D) N,0,
(16) The anhydride of HC{O, is:-

(A) Cto (B) Cto, (C) Cto, (D) C¢,0,

(17)  Co-ordination number of Pt in [ PtCE(NO,)(NH,), | is:

(A) 2 (D) 6

(B).4. ((3 1
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NOTE: - Write same question number and its part number on answer book,
as given in the question paper. O@ pakc Ity org %ﬂ
SECTION-I
2 Attempt any eight parts. 8§x2=16

(i) Define Atomic Radius. Why Atomic Radius of Alkali metals increases in group of Periodic table?
(ii)  What are Halides? Give their types.
(iii)  What is function of Ca in plant growth?
(iv)  What is the formula of Red Lead? Give its principle uses.
(v)  What is the effect of heat on the Orthoboric Acid?
(vi)  What is the Chemistry of the Borax-bead Test?
(vii) Orthophosphoric acid is a weak tribasic acid. Prove it giving reactions with NaOH .
(viii) Complete the following chemical equations:-
(a) H,S + NO,—> (b) KI + NO, —>
(ix) Concentrated H,SO, act as a dehydrating agent. Give two examples.
(x)  What is meant by Biochemical Oxygen Demand?
(xi)  Define Smog. Give the composition of Photochemical Smog.
(xii) What is an Oil Refinery? Mention oil mﬁnm&s in Pakistan.

3. Attempt any eight parts. 8x2=16
(i)  Name the following complexes according to [UPAC System:-
@ [crom), (#,0),] ®) K,[Pr(Ct), ]

(ii)  Define the term coordination humber with an example.
(iii) How Ethylene is converted into? (a) Ethylene Oxide (b
(iv)  How will you convert 1 — propanol into 1 —chloro -2 —
(v)  Write down the structural formulae of following co
(a) Benzophenone (b) Acetophenp "
(vi)  Which method is more useful for the preparatio
(vii) Write down the structural formulae of folidwing compounds:-
(a) Glycerol (b Lacuc ACH
(viii) Ethyl alcohol is a liquid while methylchioride is a gas? Justify.
(ix) How will you distinguish between \Acetaldehyde and Benzaldehyde?
(x)  Discuss the reaction of an aldeh de with Tollen’s reagent.
(xi) What are Zwitter Ions?
(xii)) Whatisa Pepﬁd SAN

4, Attempt any six parts 6x2=12
(i) What are Thermosettmg Polymers? Give an example.
(ii) Define Saponification number with an example.
(iii) Write four importances of Lipids.
(iv) What are Micronutrients?
) Describe the composition of a good Portland cement.
(vi) How is the wet sheet of paper dried in paper industry?
(vil) Whyis HF aweaker acid than HC¢?
(viii)  Write the reactions of bleaching powder with  (a) NH, () Co,
(ix) Give two uses of Argon.
SECTION-II
NOTE: - Attempt any three questions. 8x3=24
5.(a) Explain the position of Hydrogen in 1 A and VII A groups and explain its similarities and
dissimilarities with those groups. 4
() What is the role of Gypsum in Agriculture and Industry? 4
6.(a) Explain the following properties of Transition metals:- 4

(i) Paramagnetism  (ii) Colour
(b) Explain the process of incineration of industrial waste. 4
7.(a) Define Alicyclic compounds and Aromatic compounds with one example in each case. 4
(b) Predict the major products of bromination of the following compounds:- +
(i) Toluene (ii) Benzoic acid (iii) Benzaldehyde (iv) Phenol
8.(a) How will you bring about the following conversions? 4
(i) Methane to Ethane (ii) Acetic acid to Ethane
(®® How is Methyl alcohol obtained on large scalz from water gas? Draw diagram also. 4
9.(a) Write reactions of ethyl magnesium bromide with.-
(i) Water  (ii) Ammonia  (iii) Alcohol (iv) Co,
(b) Explain Cannizzaro’s reaction with suitable examples and mechanism. 4
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TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number. Use marker or pen to fill the bubbles,
Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as many
questions as given in objective type question paper and leave others blank. No credit will be awarded in

case BUBBLES are not filled. Do notsolve questions on this sheet of OBJECTIVE PAPER.
Q.No.1

(1) element is not present in all proteins.
(A) Sulphur (B) Hydrogen (C) Carbon (D) Nitrogen

(2)  Phosphorus helps the growth of:-

(A) Leave (B) Root (C) Seed (D) Stem
(3)  The main pollutant of leather tanneries in the waste water is due to the salt of:-

(A) Chromium (III) (B) Lead (C) Chromium(VI) (D) Copper
(4)  Peroxyacetylnitrate(PAN) is an irritantant to human beings and it affects:-

(A) Eyes (B) Ears (C) Stomach (D) Nose
(5)  The ionization energy of Calcium is:-

(A) Lower than that of Barium (B) Lower than tha agnesium

(C) Higher than that of Beryllium (D) Lower th rontium
(6) ___does not belong to Alkaline Earth Metal. <>

(A) Rn (B) Ba ©) % (D) Be
(7)  The chief ore of Aluminium is:- @

(A) Na,AtF, (B) A!,O,.) AL,0,.2H,0 (D) 4¢,0,
(8)  The brown gas formed, when 1@- ces HNO, to:-

(A) N,0, (C) NO (D) NO,
(9 ____isthestron id in water.

(A) HC?tO (B) HC?O, (C) HCtO, (D) HC?¢0,
(10)  The strength of binding energy of transition elements depends upon:-

(A) Number of neutrons (B) Number of protons

(C) Number of unpaired electrons (D) Number of electron pairs
(I1)  Linear shape is associated with which set of hybrid orbitals:-

(A) dsp’ (B) sp’ ©) sp? D)sp . '
(12)  Vinyl acetylene combines with HC? to form:- O@ pakc lty.org %‘:

(A) Polyacetylene  (B) Benzene (C) Chloroprene (D) Divinyiacetylene )
(13) compound is the most reactive one.

(A) Ethene (B) Benzene (C) Ethane (D) Ethyne
(14) ___ isnota nucleophile.

(A) H,S (B) H,0 (C) BF, (D) NH,
(15)  Ethanol can be converted into Ethanoic Acid by:-

(A) Hydration (B) Hydrogenation  (C) Fermentation (D) Oxidation
(16) have the highest boiling point.

(A)2-Hexanone (B) Propanal (C) Ethanal (D) Methanal
(17 reagent is used to reduce a Carboxylic group to an alcohol.

(A) NaBH, ® (C) LideH, o) /.
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NOTE: - Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
7 Attempt any eight parts. 8x2=16
(i) Why are the ionic radius of negative ions larger than the size of their parent atoms?
(i)  Zinc oxide is amphoteric in nature. Explain with reactions.
(iii) How is Gypsum converted into plaster of Paris? Write chemical equation.
(iv)  Write the formula of (a) Bauxite (b) Cryolite
(v)  Write the Chemistry of Borax Bead test with an example.
(vi)  Why are Silicones preferred to petroleum products as lubricant?
(vii)  Write two reactions of NO with (a) FeSO, (b) H,S
(viii) Write two reactions of P,0; as dehydrating agent.
(ix)  Write two similarities of Oxygen and Sulphur.
(%) What is the role of Chlorofluorocarbons in destroying ozone? Write reactions.
(xi)  How is the quality of water determined by chemical Oxygen demand?
(xii) Define Heterocyclic compounds with two examples.
= 8 Attempt any eight parts. 8x2=16
(i)  Give systematic names to following complexes:- (a) [Fe(CO),] (b) [Co (NH,),]Ct,
(ii)  Give the uses of KMnO, .

(iii)  What happens when ter-butyl alcohol is treated with conc. L7

(iv)  How will you distinguish acetylene and ethene? §

(v)  How will you prepare the following compound from B@ e in two steps?
m - chloronitro benzene o

(vi)  Give the reaction of Ethylene epoxide with e(@& esium bromide.

(vii)  Give the four uses of Ethanol.

(viii) How phenol is prepared from Chloro

(ix)  What does happen when Alkalin

(x)  How does an Aldehyde react

(xi)  Write down the four uses

(xii) What are essential an

(Dow’s Method)?

nitroprusside solution is added to Ketones?
a) hydroxylamine  (b) Hydrazine

Acid.

ssential Amino Acids?

4, Attempt any six 6x2=12
()  Write reactionsof H,S0, with NaCt s, and NaBr .
(ii) Justify that C¢,0, is the anhydride of perchloric acid.
(iii) Write important uses of Radon.
(iv) ‘Write note on Polyester resins.
W) What is the effect of pH on Enzymes?
(vi) Point out the difference between Glucose and Fructose?
(vii)  Write importance of Nitrogen for growth of plant.
(viii)  Define Lignin, write its effect on paper.
(ix)  Write names of two woody and two non-woody raw materials used for manufacturing of paper.
SECTION-II
NOTE: - Attempt any three questions. 8x3=24

5(a) Whatare Hydrides? Give classification of Hydrides with Periodic Trend.
(b) Describe with diagram the manufacture of Sodium by Down’s cell.

6.(2) Give two methods for the preparation of K,Cr,0,, also give its two uses.
(b) Whatis Acid Rain? How does it affect our environment?

7.(a) Define Hybridization and explain the structure of Ethyne according to Hybridization concept.
(b) What are Friedel-Crafts’ reactions? Explain by giving two examples with mechanism.

8.(a) How will you prepare following from Ethyne (Equations only):- . ! 4
(i) Acetaldehyde (i) Benzene (iii) Ethane (iv) Oxalic acid pakcity.org
(b) Write two methods for the preparation of Phenol. + v 4

N N L

9.(a) Whatis B ~Elimination? Explain briefly the two possible mechanisms
of B —Elimination reactions. 4

(b) What type of Aldehydes give Cannizzaro’s reaction? Give its Mechanism. 4



